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¢ f“Qu'\estip‘n Paper Version : A

(COMMON TO. ALL BRANCHES)

Time: 2 hrs.] O . [Max. Marks: 30

INSTRUCTIONS TO THE CANDIDATES

Answer all the thirty questlons each question car,rles ONE mark.

Use only Black ball pomt pen for writing / darkenmg the circles.

For each questlon,’after selecting your answer, darken the appropriate circle
correspondlng to the same question. number on the OMR sheet.

Darkening two circles for the same questlon makes the answer invalid.
Damagmg/overwrltmg, using. whiteners on the: OMR sheets are strictly

prohibited.

%

The ‘Government’, it meant a body that, §
a) Makes law ¢ b) Implements laws made
c) Interprets the laws : d) Carrying all these functions

Which one of the followmg is a features common to both the Indlan Federation and the
American Federation.

a) A single citizenship ) b) A federal suprem’eequrt to interprete the constitution
c) Three lists in the constit-utiori’ d) Dual judiciary

The preamble in the constltutlon of mdependent India is modified version of which of the

following :

a) Bill of Rights.in USA b) Brltlsh MagnaCarta

c) Objectlves resolutlon moved by Jawaharlal Nehru d) Ideals of communism

In the Indian const1tut1on the nght to Equality is granted by,
a) Article 16 <20 b) Article 15-19
c) Article 14 —18 P d) Article 13 —17

Uniform civil code is one.of the,

a) Fundamental rights b) Directive principle of state policies
¢) Fundamental duties d) None of these
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Concept of fundamental duties copied from which country,’.s;'cphstitution,

a) USSR b) USA ¢

c) UK d) JAPAN"

Who is said to be an integral part of the Union Lé_g,is]»at\lelre (Parliament)?
a) Speaker of LokSabha b) Chairman of Rajya Sabha
c) President d). Prime Minister

With reference to Vice-President, consider the following statements:.

i) The removal proceedings of Vice-President can be begin in lower house of parliament.
ii) There is no specific prov131on m the Indian constltutlon regardmg election of Vice-
President. p - rad

Which of the statements given 1s/are correct?

a) (i) only R4 b) (ii) only

c¢) Both (i) and (ii) &y, d) Neither (i)-nor (ii).

The Supreme court of India tenders advice to the President on a matter of law or fact.
a) On its own initiative b) Only if he seeks such advice

c) Only if the matter relates to the extent of powers of the Union

d) Only if the i issue relates to international treaty or agreement

Consider the following statements; . ©

i) The eath of Governor is conducted by the Chief Minister of the respective state.
ii) The constitution does not fix any tenure for the post of Governor of a state.
Which of statements given above is / are correct? . °

a) (i) only - b) Both (i) and (ii)

c¢) (ii) only e ( d) Nelther (1) or (ii)

When it comes to the passage of Money BIHS how is the situation in the Union Parliament

different from that in the State Leglslature‘7

a) At the Union level Money Bill can.be introduced only in the Lok-Sabha, but at the
state level, it can be introduced e1ther house of state Legislature.

b) The time limit within which the upper house can return a money bill is 14 days, in case
of the Union and one month in.State Legislature.

¢) In®Parliament, there is o provision for joint session in case of Money Bills, but there
can be joint session over money Bill in State Leg1slature

d) None of the above

,Judge of the High- Court can be 1mpeached on the ground of,

a) Proved mxsbehavlour

. b) Corruption
¢) High crimes:

d) Emergency

£

Nomination papers shall be subrmtted with,
a) The Chief Election Commissioner b) The Regional Election Commissioner

¢) The Returning Officer- d) None of these
73™ Amendment provides establishment of,
a) High courts < b) Rural local self Government
c) Lokayukta ™ d) Start ups
. .
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A college student desires to get elected to the Muniﬁipalvcouncil of his city. The validation
of his nomination would depend on the important condition, among others, that

a) He has attained the maturity b) Heisamember of a political party

c) His name figures in the Voter’s list ~ d) He is the topper to the class

To declare emergency  consent is st ~ %
a) Prime Minister . b) Cabinet headed by the Prime Minister

c) Speaker of Lok Sabha ; - d) Chief Justice of the Supreme Court

It is not the effect of State emeﬁgeggjy, -,
a) State legislature can be dissolved b) President assumes the state executive power
¢) Parliament may make law-over state list d) Effects on state Judiciary

Which of following statements is / are correct in respect of co-operative societies:
i) Part IX-B of the constitution deals. .

ii) Right to form a co-operative society is a fundamental under the constitution.

iii) Co-operative societies also mentioned under Directive Principles of state policy
Select the correct answer using the code given here.

a) (i) only b (ii) only

¢) (i) and (iii) only £ d) (), (ii) and (i) |

What day do countries celebrate as Human Rights Day?. '

a) 1 January b) 10 December 4
¢) 2 March RS d) 6 June A

What does the International Bill of Human Rights provide? .

a) A list of economic human rights. ‘ :

b) The rights that all citizens hold

c) A list of indivisible human rights covering civil and political rights.

d) An authoritative list of universal human rights coyering civil and political rights and
economic, social and cultural rights.

is the watch‘dvog of human rights in India.
a) High court e TNt b)Parliament

) National Human Rights'Comrnission 4 d) None of these

g

Engineering Ethics is a,

a) Developing ethics /4 ... b) Preventive ethics

c) Natural ethics (7 d) Scientifically developed ethics
For engineeriﬁg profession ¢ is considered as its foundation.

a) Honesty Aoy Jon b) Hard work

¢) Sound common sence " d) None of these

A compound measure of the probability and magnitude of the adverse effect is known as,
a) Benefit R i b) Compensation
¢) Risk %3 d) Both (a) and (b)
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“Trimming’ is, =

a) Retaining the entire data b) Consolidaﬁng the data

c) Smoothing of irregularities to make the data: to appear accurate and precise
d) All the above v

Vi

A fault tree is used to,

a) Access the risk involved . | 'b)"‘; Improve safety
c) Take free consent . d) Claim compensation N
The formula of a soft drink is an example of, )
a) Copyright & 7 . b) Trade secret ,
c) Patent a & d) Trade mark
An author retains copyng’ht of his book for, - J g
a) 25 years : b) 50 years
¢) Life time + 60 years d)<100 years
This is not dlshonesty in engineering, %,
a) Forging - ¢ b) Blending
c) Cookmg 4w d) Trimming
This is not implement to respon51b111ty, 7,
a) Fear 4 b) Self respect
c) Self deception d) Ignorance.
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